### CONTRACT FOR PUBLIC WORK

### **COUNTY OF MONTEREY**

### STATE OF CALIFORNIA

CONTRACT NO. 09-140465

THIS AGREEMENT, made in triplicate by and between the COUNTY OF MONTEREY, a political subdivision of the State of California, hereinafter called the "County," and Granite Rock Co. dba Pavex Construction Division, hereinafter called the "Contractor," WITNESSETH:

# (1) THE WORK

The Contractor shall do all the work and furnish all the materials, except such as are mentioned in any of the contract documents to be furnished by the County, necessary to construct and complete in a good, workmanlike and substantial manner and to the satisfaction of the County, the following public work:

## ESPINOSA ROAD OVERLAY PROJECT PROJECT NO. 09-140465

in accordance with this agreement and with all of the following additional contract documents which are incorporated into and made a part of this agreement:

- (a) The Standard Specifications, dated May 2006, and the Standard Plans, dated May 2006 of the State of California, Department of Transportation.
- (b) A set of plans and cross sections (when applicable) entitled:

## ESPINOSA ROAD OVERLAY PROJECT PROJECT NO. 09-140465

- (c) The Special Provisions for the work.
- (d) The Notice to Contractors calling for bids.
- (e) The Payment and Performance bonds required.
- (f) Certificate of Insurance
- (g) The accepted bid/proposal including the following:

(1)	List of Subcontractors
(2)	Equal Employment Opportunity Certification
(3)	Public Contract Code Section 10285.1 Statement
(4)	Public Contract Code Section 10162 Questionnaire

(5)	Public Contract Section 10232 Statement
(6)	Non-Collusion Affidavit
(7)	Debarment and Suspension Certification
(8)	Non-Lobbying Certification for Federal Aid Contracts
(9)	Disclosure of Lobbying Activities
(10)	Instructions for Completion of SF-LLL, Disclosure of Lobbying
	Activities
(11)	Affidavit Concerning Employment of Undocumented Aliens
(12)	Contractor's Certificate as to Worker's Compensation
(13)	List of Satisfied Public Agencies
(14)	Bidder's Bond
(15)	Bidder's List
(16)	Local Agency Bidder - UDBE Commitment, Exhibit 15-G(1)
(17)	Instructions - Local Agency Bidder UDBE Commitment
(18)	UDBE Information - Good Faith Efforts, Exhibit 15-H
(19)	Local Agency Bidder - DBE information, Exhibit 15-G(2)
(20)	Instructions - Local Agency Bidder DBE Information

All contract documents are intended to cooperate, so that any work called for in one and not mentioned in another is to be executed the same as if mentioned in all. However, should there be any conflict between the terms of this instrument and the Contractor's bid or proposal, then this instrument shall control.

### 2. WORKERS' COMPENSATION

In accordance with the provisions of Section 3700 of the Labor Code, the Contractor and every Subcontractor will be required to secure the payment of compensation to his employees.

### 3. CONTRACT PRICE

The County shall pay the Contractor the following prices for the performance of this contract:

ESPINOSA ROAD OVERLAY PROJECT PROJECT NO. 09-140465

#### BASE BID:

ITEM	ITEM	ITEM DESCRIPTION	UNIT OF	ESTIMATE	ITEM PRICE		TOTAL
NO	CODE	TEW BESSELL TION	MEASURE	QUANTITY	(In Figures)	(1)	n Figures)
1	1 /////146	Construction Site Management	LS	1	\$ 1,500.00	\$	1,500.00
2	74017	Prepare Water Pollution Control Program	LS	1	\$ 1,500.00	\$	1,500.00
3	120090	Construction Area Signs	LS	1	\$ 1,175.00	\$	1,175.00
4	120100	Traffic Control System	LS	1	\$ 28,416.00	\$	28,416.00

ITEM NO	ITEM CODE	ITEM DESCRIPTION	UNIT OF MEASURE	ESTIMATE QUANTITY	EM PRICE Figures)	(1	TOTAL n Figures)
5	150704	Remove Yellow Thermoplastic Traffic Stripe	LF	17,461	\$ 0.50	\$	8,730.50
6	150715	Remove Thermoplastic Pavement Marking	SQFT	224	\$ 2.00	\$	448.00
7	150722	Remove Pavement Marker	EA	1,096	\$ 1.00	\$	1,096.00
8	150771	Remove Asphalt Concrete Dike	LF	4,272	\$ 1.00	\$	4,272.00
9	150801	Remove Overside Drain	EA	5	\$ 350.00	\$	1,750.00
10	152438	Adjust Frame and Cover to Grade	EΑ	5	\$ 303.00	\$	1,515.00
11	153103	Cold Plane Asphalt Concrete Pavement	SQYD	1,861	\$ 3.00	\$	5,583.00
12	160101	Clearing and Grubbing	LS	1	\$ 15,000.00	\$	15,000.00
13	190101	Roadway Excavation	CY	587	\$ 10.00	\$	5,870.00
14	198007	Imported Material (Shoulder Backing)	TON	1,526	\$ 16.00	\$	24,416.00
15	260201	Class 2 Aggregate Base	CY	667	\$ 36.00	\$	24,012.00
16	374206	Seal Random Cracks	LNMI	8	\$ 5,000.00	\$	40,000.00
17	390132	Hot Mix Asphalt (Type A)	TON	15,904	\$ 68.00	\$ 1	,081,472.00
18	393001	Pavement Reinforcing Fabric	SQYD	60,262	\$ 2.20	\$	132,576.40
19	394074	Place Hot Mix Asphalt Dike (Type A)	LF	4,833	\$ 1.00	\$	4,833.00
20	394090	Place Hot Mix Asphalt (Miscellaneous Area)	SQYD	7	\$ 500.00	\$	3,500.00
21	397005	Tack Coat	TON	56	\$ 600.00	\$	33,600.00
22	750008	Frame and Cover	EA	5	\$ 545.00	\$	2,725.00
23	840504	4" Thermoplastic Traffic Stripe	LF	54,466	\$ 0.25	\$	13,616.50
24	840515	Thermoplastic Pavement Marking	SQFT	254	\$ 4.00	\$	1,016.00
25	840525	4" Thermoplastic Traffic Stripe (Broken 36-12)	LF	6,939	\$ 0.20	\$	1,387.80
26	850111	Pavement Marker (Retroreflective)	EA	1,096	\$ 3.00	\$	3,288.00
	<b>A</b>	TOTAL	BASE COST		 	\$ 1	,443,298.20

,

ADDITIVE ALTERNATE 1 (HMA) BID:

	ITEM	LTERNATE I (HMA) BI	UNIT OF	ESTIMATE	ITE	M PRICE	T	TOTAL
ITEM NO	CODE	ITEM DESCRIPTION	MEASURE	QUANTITY		Figures)	(1	n Figures)
1	150704	Remove Yellow Thermoplastic Traffic Stripe	LF	1,395	\$	0.50	\$	697.50
2	150722	Remove Pavement Marker	EA	118	\$	1.00	\$	118.00
3	198007	Imported Material (Shoulder Backing)	TON	439	\$	39.00	\$	17,121.00
4	374206	Seal Random Cracks	LNMI	2	\$	5,000.00	\$	10,000.00
5	390132	Hot Mix Asphalt (Type A)	TON	4,082	\$	105.43	\$	430,365.26
6	393001	Pavement Reinforcing Fabric	SQYD	17,354	\$	3.00	\$	52,062.00
7	397005	Tack Coat	TON	14	\$	600.00	\$	8,400.00
8	750008	Frame and Cover	EA	3	\$	669.00	\$	2,007.00
9	840504	4" Thermoplastic Traffic Stripe	LF	11,156	\$	0.25	\$	2,789.00
10	840525	4" Thermoplastic Traffic Stripe (Broken 36-12)	LF	5,578	\$	0.20	\$	1,115.60
11	850111	Pavement Marker (Retroreflective)	EA	118	\$	3.00	\$	354.00
12	153103	Cold Plane Asphalt Concrete Pavement	SQYD	500	\$	15.00	\$	7,500.00
TOTAL ADDITIVE ALTERNATE 1 (HMA) COST							\$	532,529.36

IN WITNESS WHEREOF, the parties hereto have executed this Agreement as of the dates appearing below their respective signatures.

CONT	RACTOR:	
Granite	e Rock Co, dba Pavex Construction	n Div
	(Name of Company)	
By:		
Name:	THOMAS H. SQUERI	
Title:	VP and Corporate Secretary	
Date:	July 8,2009	
COUN	TY OF MONTEREY:	
By:	Comment of the commen	
Name:	Yazdan T. Emrani, P.E.	
Title:	Director of Public Works	
Date:	7/27/09	
	APPROVE AS TO FORM	APPROVE AS TO FORM
By:	Cyrahia L. Slosson	By: COUNTY OF MONTEREY APPROVED AS TO INDEMNITY/
Name:	Cynthia L. Hasson	NameNSBRANCEMANGUAGE

Deputy County Counsel

Title:

Date: